Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the

Toyota catch up?
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Instructions. Provide a solution, written to be understandable and iluminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up? .
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on [-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the

Toyota catch up?
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Instructions. Provide a solution, written to be understandable ard lluminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the

Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on [-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set

at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set

at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up? '
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Instructions. Provide a solution, writfen to be understandable and illuminating to Algebra [ students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?

Lt /ﬁ yé,) /ngf % w—%fﬁfﬁmﬁ e ST ALEEL W@&ﬂ L Hutrze)
z Z s B gt B Wfﬁ‘ s M%ﬁj TEA

P :z%wfz’;; LB MWJ@) T B P o)
;&faf m@ el ,wigﬁ* Pt B
4
e T e #%Wﬁ o it st el /zi:j:f GITH

o

-

%{/ - /’?ﬁ, 2z D Z, Sm LT M/ ;?M"’/;;yz ,;pg
¥ »”~ = - o »‘g)i}' .
o li e Fowr it AERpesdea’ ) 25 T
> ' »?‘.(f""y
fm&i‘éﬁﬁ/ ‘W e ;ﬁ ﬁ?gj’%} ® / % ;731‘;3 P o (w@?"mﬁ«# %

A

?@Awmm CP et Py _THtps fé{wé&%ﬁgﬂ e T2
TPTL L. it E R 2 ? WM/

GAL g7 “,%W R e w},{ﬁf/wﬂf DA

WM % 2 0 i, A pon W (/ )

e sz v 4 =
” Pr | ﬁw f:}fj-@’» oze {;’—‘3"?..»»/ %;/ ,ﬁ@/ o W ,,fg?‘

i R R f,.;p /Z?m
ARG ot 2.0 /e /eg%? R /)
S A T - ST

ai S e ff;if’

i ff = o 2 ) -

w2 FE o /ﬁﬁ/}gM ?{@Wﬁy”fﬁ_f/)

& & j;é_,éff Lol fﬁﬁ’/ o2 ?7;«4 f/ zé ’ " *"’?”‘5“?"’" S T2
S | AT -
L Sz ﬁ;;ﬁ:ﬁ? wf% Lzl Hzs

Tl & g o .. S s d

A iz (o g &
Jyg’ﬁ )/ / % e __.vaj_j,aé ﬁ M e

Cote i ETD Gy e ) e iy STE A - Xfmﬂ%s
.ﬁ/&z‘@w L opmr LA B 3 s 4§im S g fDéf"’“j)

| T 2




Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agenl in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the

Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on 1-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on 1-40 with the cruise control set

M and traveling 85 mph. When and where does the

gat 7 A

111,

at 70 mph. A federal agent in a green Toyota follows, leav

Toyota catch up?

\mL,_aﬂ
4




Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the
Toyota catch up?
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Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students.

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the

Toyota catch up?

Lol . ! .
W A s = Lg - e %g'i,w%“m b ST gm;;g,f.g

: ! i
\g@ i A g‘%{‘ﬁ‘% fo Lhe  Tar B e p
j ~o . g f
b 10 Do o raeabing o s of Mo b aler
*Z.——-D 'JL Ty AT B %ﬁéw*-’-‘ ‘:5 f-icr.:

(9 Ao Loe Lot ﬁ L Lise -{’_’j‘;,x_: = & of Ll f—.“.ég,,.w
3 j
ity wut ¢ sddasde j’j doe Athevee Bl teoe dumerted

\fa/.\:’\;{t(l[-gi "ﬁ)"
= ! s {—\‘ ot an [T
C Ay Jrna! iwi raglol m\ dzep brl b0 ow T olavie DL Y
[ 7] I f ¢
A Lo ete T pere o ey

f(iﬁff;\tg“{f‘v {e W,ﬁff:} c{’Wf{,’f{ a
£ ol Wtu’f(?ﬁ( (&-Q'ﬂf (e Aoy .

- JWLM lri——‘z iLD wf ’ o %“LL_.L

/\\]w_ \znuw H/u.z( J-’%?‘%Jﬁuﬁk = giogﬂé& . Hu{,g .

CDQ Mo y{%%{wm i 0 (’QV/{’,{J) i—yfﬁgﬁﬁgg—-{- e i}cg 's’ftr"yrfigﬁ-é(;g(ﬂg .

édb C, = —:%D_t } H’_z_)—}b ‘J‘ﬂtpgii (,[;,\r’ ’t %‘505 E\_aujg_‘

) I . f s 4
Sonilacs M‘x o A lewer Lo f{’r’ 4“5 ba gl pac b f\/’%é@ii p

T : . J
14.) Fe@3(e-1) 0, 37 wph dor owe haer Lesstho He

L ovdey éw e B Caw J«Wxﬁ Jcék LozL,OO i@{_‘:’@ (LD*‘L%UZ.{ o can. 4. ‘
N w# L4 L {"{f .; = F - Ogual Arglaps oo
T _"’g’ﬂ/{"(‘_"i.) - 4@%; (1} g"*mi
t = %%_f:’i’i %:3 - Az lu”{,—d‘{d,' ;*@é'f‘ftn@
2 m- ot
3

o

Sinte 1+ 16 It
o

Le'0h + 5%

C e *55,\ —y uﬂb{v l,-i;u,‘v‘

b hd PITRCEN
e L 4, P SR e 3y by , |
L9 t afgeinr tu C ) e C}L% L2 4o ( % '3 35& wet £ 4

9,@(@‘ dL’AeWJ‘J CUH #o et ;4}’5_5’ ey ﬁﬁiég‘féyﬁt{ b s £ wgt 390 71,0, e, LO of O% fe,%“&g{’@}{i{{@w,




Instructions. Provide a solution, written to be understandable and illuminating to Algebra I students

Cadillac and Toyota 1.1. A pink Cadillac leaves Oklahoma City at 6AM headed west on I-40 with the cruise control set
at 70 mph. A federal agent in a green Toyota follows, leaving at 7 AM and traveling 85 mph. When and where does the

Toyota catch up?
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